1 Copy and complete

a) 3.7cm=0mm

d) 49mm=0cm

2 Copy and complete
a) 4km=o0om

d) 7000 m =0 km

3 Copy and complete
a) 6.5 cm?=0mm?

d) 590 mm? =0 cm?

4 Copy and complete
a) 7km’=om?’
d) 7000 m?=0km?

5 Copy and complete

a) 4.7 cm’=0mm’

d) 55000 mm®=0cm?

6 Copy and complete

a) 2km’=om’®

d) 7000000 m® =0 km?®

b) 5cm=0mm

e) 17mm=0cm

b) 6. 5km=0m

e) 4m=0mm

b) 8 cm? = 0 mm?

e) 17 mm?* =0 cm?

b) 45km’=0m’

e) 3m’=0mm?’

b) 9 cm® =0 mm®

e) 19 mm’=0cm’

b) 45km’=o0m’

e) 2m’=0mm’

f)

90 mm =0 cm

13.6 cmm = 0 mm

1.5m=0mm

2000mm =0 m

900 mm? = 0 cm?

13.6 cm? = 0 mm?

2.5m? =0 mm?

200 000 mm? = 0 m?

900 000 mm® = 0 em?®

12.4 cm® = o mm?®

6.3m° =o0mm’

2 000 000 mm® = O






